Backward Mean: 0.4996
Forward Mean: 0.5
ttest p-value: 0.9235
Mann-Whitney p-value: 0.91

Backward Mean: 0.4964
Forward Mean: 04983
ttest p-value: 0.8354

Mann-Whitney p-value: 0,671

Backward Mean: 0.4994
Forward Mean: 0.4986
ttest p-value: 0.9806

Mann-Whitney p-value: 0,89

Backward Mean: 0.5006
Forward Mean: 05017
ttest p-value: 0.7916

Mann-Whitney p-value: 0,65

Backward Mean: 04996
Forward Mean: 04992
test p-value: 0.5276

Mann-Whitney p-value: 0.576]

Backward Mean: 0.4982
Forward Mean: 0.4982
ttest p-value: 0.8131

Mann-Whitney p-value: 0,69

‘Backward Mean: 2.5007
Forward Mean: 2.504
ttest p-value: 0.6446

Mann-Whitney p-value: 0.701)

‘Backward Mean: 2.4977
Forward Mean: 2.5003
test p-value: 0.6648

Mann-Whitney p-value: 0.63

Backward Mean: 2.498
Forward Mean: 2.5011
test p-value: 0.638

Mann-Whitney p-value: 0,63

Backward Mean: 2.4983
Forward Mean: 2.5012
test p-value: 0.7093

Mann-Whitney p-value: 0.701]

Backward Mean: 2.4879
Forward Mean: 2.4995
ttest p-value: 0.1045

Mann-Whitney p-value: 0.10:

Backward Mean: 2.4923
Forward Mean: 2.5017
test p-value: 0.145
Mann-Whitney p-value: 0.16

sigma_tau

Mean_recipients

Mean_TopiclP

Documents_in_IP_1

Backward Mean: -19986
Forward Mean: -1.9985
test p-value: 0.805
Mann-Whitney p-value: 0.62

Backward Mean: 36259
Forward Mean: 3.6414
ttest p-value: 0.6698

Mann-Whitney p-value: 0.31

Backward Mean: 1.255
Forward Mean: 1.2595
test p-value: 0.4435

Mann-Whitney p-value: 0.87

ackward Mean: 841.5219

Forward Mean: 145.9254
ttest p-value: 0.1576

Mann-Whitney p-value: 0.20(

ackward Mean: 14839
Forward Mean: 14842
ttest p-value: 0.1397

Mann-Whitney p-value: 0.10

ackward Mean: 49989
Forward Mean: 49905
ttest p-value: 0.1397

Mann-Whitney p-value: 0.10:

Documents_in_IP_2

Tokens_in_Topic1

Tokens_in_Topic2

Tokens._|

_Topic3

Tokens_in_Topicd

Tokens_in_Word1

ackward Mean: 5.0011
Forward Mean: 5.0095
ttest p-value: 0.1397

Mann-Whitney p-value: 0.10:

‘Backward Mean: 25.0785
Forward Mean: 25.0583
test p-value: 0.0513
Mann-Whitney p-value: 0

‘Backward Mean: 25.0789
Forward Mean: 24.9804
ttest p-value: 0.9169
Mann-Whitney p-value: 0

Backward Mean: 24.9917
Forward Mean: 25.0383
ttest p-value: 0.4468
Mann-Whitney p-value: 0

‘Backward Mean: 24.8509
. Forward Mean: 24.923
test p-value: 0.2591

Mann-Whitney p-value: 0

‘Backward Mean: 20.0004

Forward Mean: 19.9793
ttest p-value: 0.9622

Mann-Whitney p-value: 9e-

Tokens_in_Word2

Tokens_in_Word3

Tokens_in_Wordd.

D
%/ Backward Mean: 20.0129
%/ Forward Mean: 20.0442

%/ Backward Mean: 19.9476
Forward Mean: 20.0446

‘Backward Mean: 20.0297
Forward Mean: 19.9946

Backward Mean: 20.0094
Forward Mean: 19.9372

ttest p-value: 0.1561 7 ttest p-value: 0.2759 test p-value: 0.8644 ttest p-value: 0.5705
Mann-Whitney p-valve: 0.174 __| Mann-Whitney p-value: 0 Mann-Whitney p-value: 0.002 Mann-Whitney p-value: 0.001
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